rsync://host/foo/g(ski(a)).cer

rsync://host/foo/g(ski(a))/g(ski(b)).cer

rsync://host/foo/g(ski(a))/g(ski(b))/g(ski(c)).cer

rsync://host/foo/g(ski(a))/g(ski(b))/g(ski(c))/g(ski(d)).cer

rsync://host/foo/g(ski(a))/g(ski(b’)).cer

rsync://host/foo/g(ski(a))/g(ski(b"))/g(ski(c)).cer

rsync://host/foo/g(ski(a))/g(ski(b’))/g(ski(c))/g(ski(d)).cer




rsync://host/foo/g(ski(a)).cer

rsync://host/foo/G001/g(ski(b)).cer rsync://host/foo/G001/g(ski(b")).cer

rsync://host/foo/G001/G002/g(ski(c)).cer

rsync://host/foo/G001/G002/G003/g(ski(d)).cer




